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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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['T, '"Topt’], ['RH', 'RHopt'], ['ETcl’, 'optETcl’], 'LAI', 'optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-3 0
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G3-3

BFE) | GEBATK () | s (ERH/#F) | EREE (B/R) | X5 R

06:30 175 100. 0 2.16 |Z=| TiHAe06:30 KEIEHF (RAMEEE)
07:30 175 100. 0 2.16 |Z=| Fi#Ae07:30 KREEF (KAFERE)
09:05 175 100.0 2.16 [ =| Fi#Ae09:05 KREEF (KAFEHE)
10:35 175 100.0 2.16 [ =| FHRe10:35 KEEF CGRAERSE)
11:50 175 100.0 2.16 FE| FiHRe11:50 KEFEF (RAFERE)
13:05 175 100.0 2.16 FA| FnHR@13:05 AFFEF (KAFERKSE)
14:20 175 100.0 2.16 P FiHBe14:20 KEIEF (RAEREEE)
15:50 175 100. 0 2.16 [/hF| FhHA@15:50 KEFEF (KRAKERRSE)
23t] 1400.0 (8%) 800. 0 3203 KEC: 2880, PH: 6.5
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ET (ml/hr/plant)

G3-3_0, Day=33 (2025-06-14)
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G3-3

BFE) | GEBATK () | s (ERH/#F) | EREE (B/R) | X5 R
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23t] 1400.0 (8%) 800. 0 3 UHKEC: 2250, PH: 6.5

unusual large postFgEt from yesterday (339), set to 300.0 ml.
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500 600 700 800 900 1000 0.0 0.2 0.4 0.6 0.8 1
m=810,m FV0=0 m=880, FV0=0
o we | 640 o WE
64.5 1 63. 5 -
64. 0 1 63. 0
62. 5 -
63. 5
62.0 +
63. 0 1
T T T T T T
810 815 820 880 885 890
m m=405,m FV0=0
1.0
0. 8 1
0.6 -
0.4 -
0.2 A
o MW Warning: col "MW ] missing
50
T T T T T T 0- 0 T T T T
500 600 700 800 900 1000 0.0 0.2 0.4 0.6 0.8 1.
m=810,m FV0=0 m=880, FV0=0
53.0 A
- MW - MW
53.5 52 5 4
53.0 52.0 1
51.5 A
52.5 A
51.0 A
52.0
50. 5 A
51.5 A 50 0 -
810 815 820 880 885 890

66.

66.

66.

66.

66.

66.

66.

.0

65.

65.

64.

64.

63.

63.

95.

55.

95.

95.

54.

54.

53.

53.

52.

52.

51.

m=465, FV0=0

90

85 ~

80 -

75 1

70 -

65

60

—0— ME

T T T
474 476 478

m=910,m FV0=0

—&— M_E

9%5 950
m=465,n FV0=0

—— MW

=

474 476 478

m=910,m FV0=0

472

-— MW

915 920

m=595, FV0=0

66.

66.

66.

66.

65.

65.

65.

—&— M_E

660 665
m=955,n FV0=0

66.

65.

65.

64.

—o— M_E

9é0 9é5
m=595,n FV0=0

54.75 A

54. 50 A

54. 25 A

54. 00 A

53. 75 A

53. 50

—o— MW

660 665
m=955,n FV0=0

595

54.5 -

54.0 A

53.5 -

53.0 A

- MW

i

955 960 965




hour

100

:00 -
215 -
80
35
35 - 60
:35
:00 - 40
:00
20
105
115
I I I I I I I -0
R SR H &
é§¥ égr ?ﬁ» & é@“ 4? %;5 %gr



G3-3

BfE) | GEBATIK () | s (ERH/#F) | EBREE (B/R) | X5’ R

05:35 263 100.0 2.16 FH| {RRi%@05:35 Bz (RAEESE)
06:35 263 100.0 2.16 BH| 1{Ri%@06:35 H#I (RAEEES)
07:35 263 100.0 2.16 FA| 1BRi%@07:35 B3h (KRAIEREE)
09:00 263 100.0 2.16 FH| 1BRi&@09:00 B3zh (RAEREIEE)
13:00 263 100.0 2.16 FH| 1RRi&@13:00 B (RS
14:05 263 100.0 2.16 FA| {Ri%@14:05 Bzl (GRAEEE)
15:15 263 100.0 2.16 |Z=| {Rige15:15 Bz (REEZBE)
2it|1841.0 (%) 700.0 EGHIKEC: 2250, PH: 6.5

ERGERBTC R IR AR B (263 vs 175.0))

2RI\ L PRIERE150. 0 ml.

MERMEAEHB9IRE, i B RPHA B 46.5,10.3,6.5, RERK
RERERIPH (10.29) 5igEPH (6.5) REK K, HRE
BEXRERIPH (10.29) 5FMPH (6.5) REK K, HRE

RAE NS KFHRPH 6.5

TRBVE NS RIFREC 2250.0
ERGERPH (9.8) 5i8EE (6.5) REKK, FHE.
LORGERIPH (9.8) S5HREEVEY (6.5) REKK, FRE.




=55 -

2600 -

2400 -

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

G3-3_0, Day=31 (2025-06-12)

100 A

75

50 A

2 9vm4§|12g/, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

930 00
819 o1

00

40
Warning: lcol [FVI',| "FVO’'] missing

. v
FRV

— M_E

ittt Bt e S O O — M W ~

maxM

- LR P e B

0.8 A

0.6

0.4+

0.2~

0.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2400. 0, setECB=2250 —>—  ECB*10%
o ECC

»
X
X
X

optPHO0=6.5, setPHB=6.5 ) ° ® —¢—  PHB*10%
o PHC

X
3

SN
N 7N 7N

w

o
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1
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o

o
1

100 -

]
Bylnit @D33 01:35: ET=1765 Fg=2100.0 Ro=308.0

it [N
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o
o
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300

4
5n|%n|Z5| B | B | B [ PB | 2525|2525 5550525252525 |55 855|252 A | B [ M

200

100 -

ByEt @D31 19:32: ET=1222 Eg=900.0 Ro=nan

o o A a a B E— .\/\l\

- 2000

- 1000
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T
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o
o
o

300

55| %=z BB | BB | BB | BB | BH | BH | B [BE(ER[KMm| B | BB |Z=|Z=|%=| B | B | B [ X[ [ KXW

200

100 -

1.0 A

]
ByWoFv @D33 01:35: ET=691 Fg=700.0 Ro=21.0

- 2000

- 1000

0.8

55| %=z BB | BB | BB | BB | BH | BH | B [BE(ER[KMm| B | BB |Z=|Z=|%=| B | B | B [ X[ [ KXW

0.6

0.4+

0.2~

0.0

1000 ~

500 ~

—_—
o | _obs
—@— PPFD obs

80 A

60

40 -

—— RH
[ ] RH_obs °
(] RHo_obs
()

o VPD

FRV (ml plant-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=365, FV0=0
—&— ME 66. 5 —-&— ME
68
66. 0
67 65. 5 -
66 - ® 65. 0
65 - 64. 5 1
64. 0 1
64
63. 5 1
T T T T T T T
400 600 800 1000 365 370 375
m=625,m FV0=0 m=880,m FV0=0
68. 0 —-e— ME —o— ME
66. 5 1
67.5
66. 0 -
7_ -
67.0 65. 5 1
66. 5 65. 0 1
66. 0 64. 5 1
T T T 64.0 - T T T
625 630 635 880 885 890
m=365,m FV0=0 m=410,m FV0=0
—— MW -— MW
55.5
54 -
55.0
531 54.5
59 54.0 A
53.5 A
51 1
365 370 375 410 415 420
m=880,m FV0=0 m=970,m FV0=0
54 5 55.5
. —— MW - MW
55.0
54.0
54.5 -
53.5
54.0
53.0
53.5 A
52.5
880 885 890 970 975 980

68.

68.

67.

67.

66.

66.

65.

67.

67.

66.

66.

65.

55.

55.

54.

54.

m=410, FV0=0

——

M_E
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T T
415 420

m=970,m FV0=0
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M_E
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T T
975 980

m=470,m FV0=0

——

M_Ww

470

475 480

m=470, FV0=0

68. 5

68. 0

67.5 A

67.0 A
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—— ME
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e
51 - —— MW
T T T T
400 600 800 1000
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G3-3

BfiE) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS R

06:25 263 100. 0 2.16 E BRi&e06:25 Bal (RAERE)
07:15 263 100.0 2.16 E|  {Rig&e07:15 Bah (RFE{EREE)
08:20 263 100.0 2.16 = {RRiB008:20 B (FRFAEEE)
09:45 263 100.0 2.16 5| {Ri%@09:45 Bz (KRAERSE)
10:55 263 100.0 2.16 5| {Ri%@10:55 B3 (RAERSE)
11:55 263 100.0 2.16 =l {Rige11:55 B3 (RAERSE)
12:55 263 100.0 2.16 S| {Rige12:55 B (REAERSE)
13:45 263 100.0 2.16 E| {Rig013:45 Bzh (GRE{ERSE)
14:35 263 100.0 2.16 E BRige14:35 Bz CGRAERSE)
15:25 263 100.0 2.16 S| {Rige15:25 B (REAERSE)
16:15 263 100. 0 2.16 El BRige16:15 Bzl (GRAERESE)
17:15 263 100.0 2.16 F BRige17:15 Bz CGRAERSE)
2it]3156.0 (12)%) 1200.0 ZHIKEC: 2250, PH: 6.5

ERGERBTC R IR AR B (263 vs 175.0))
2RI\ L PRIERE150. 0 ml. ‘
MERMEAEHB9IRE, i B RPHA B 46.5,10. 4, 6.5, REWRK

RERSERIPH (10.36) 5i&EPH (6.5 REK K, HHRE
REXRGEBIPH (10.36) 5FMIPH (6.5) REKK, BHHRE

REE NS K RPH 6.5

#H[ERECE (2567.0 vs 3347.0) RS
REVE NS KFIREC 2250.0
LORGEBIPH (10.3) 5i&%E{E (6.5) RERK, BERE.
LORGEBIPH (10.3) S5HREIEN (6.5) RERK, HRE.




G3-3_0, Day=30 (2025-06-11)

] g g g S S g B By

\Ydo VERFRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2000 192820 | 2000
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50 A
- 1000

00

FRV (ml d-1)

25 10
Warning: lcol [FVI',| "FVO’'] missing

( o v

— 65 "_ FRV AT D,
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|

= 60 +
L 100

:|55-

- 50
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50 A
1.0

0.8 A
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Warning: lcol ["WC1',  "WC2'] missing

0.0

optEC0=2400. 0, setECB=2250 —>—  ECB*10%
o ECC

2600
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2400 - ® L %

e o o ® 6 o o © g 0 06 o © —  PHB*10% f#
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=

10 7 optPHO=6.5, setPHB=6.5

]
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0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

200

ET (ml/hr/plant)
cumET (ml/plant)

100 A

N

400 T | F | B | & | F& | RE | FE | F& | & | B | F& | RB | RE | F& | P& | & | FE | F& | RE | FE | M | B8 |22 B2 | 4000 o
c 1 c
= . . = = = 1 S
3 300 ByEt @D30 19:07: ET=1929 Fg=2100.0 Ro=nan ! 3000 &
< 1 =
> 200 - ® q e @ ® ® L 2000 ™~
£ 1 -
~ L
= 100 - 1000 5
0 | 1 2 | 3 | 4 | 5 | 6] 7] 8 9 10 11 12 ] 1314 ] 15 ] 16 | 17 ] 18 ] 19 ] 20 | 21 | 22 | 23
400 FE | B | W | 5 | M5 | P& | FE | RE | BB | FE | FE | B | s | Fs | FE | FE | R | BB | B |Bn B2 BalBE]125 ] 40000
c 1 c
< JQE. ET= - - kS
E 300 - ByWoFlk/ @D33 01:35: ET=1191 Fg=1200.0 Ro=47.0 3000 &
£ ! >
> 200 A i - 2000
£ I -
= 100 - , - 1000 3
|
10k —— ® e — 0
0 | 1 2 | 3 | 4 | 5] 6] 7] 871 9 10 11 [12] 13 14]15 ] 16 | 17 ] 18 ] 19 ] 20 | 21 | 22 | 23

0ol M | M | | # | m | R | m | M | m | | | R | fE | M| M| m® BB 5502212282

0.6 -

0.4 -

0.2 -

0.0

1500 { —_ U

[ ] | _obs
—@— PPFD obs

80 —— RH u
o RH_obs

60 - o RHo_obs

40 - '

20 ~

e v P




m=365, FV0=0

1.0
67
0.8+
66
65 - 0.6 -
64 0.4 -
63
0.2+
62 - o M_E Warning: col ['M_E'] missing
T T 0- 0 T T T T
600 1000 0.0 0.2 0.4 0.6 0.8 1.
m=550,m FV0=0 m=615, FV0=0
66
66. 5 - —&— ME - ME
66.0 - 65 -
65.5 1
65.0 - 64 1
64. 5
63
64. 0
T T T T T T
550 555 560 615 620 625
m=785,m FV0=0 m=825,m FV0=0
66
—o— ME - ME
65
65
64 -
63 _ 64 T
62 63
785 790 795 825 830 835
m=965,m FV0=0 m=1020m FVO0=0
67 -
65. 5 @ M_E —o— ME
65. 0 66
64.5
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64. 0
63.5 - 64
63. 0 1
T T T 63 L T T T
965 970 975 1020 1025 1030

1.0

m=405, FV0=0

0.8 -

0.6

0.4+

0.2 -

0.0

Warning: col ['M_E'] missing

T T
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m=675, FV0=0
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T
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——

M_E
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m=1025m FV0=0
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66. 8 -

66. 6
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66. 0

——

M_E

1025

1030
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.0

m=465, FV0=0

67.0 A

66. 5 -

66. 0

—&— M_E

T
470

475
m=730,n FV0=0

65

64 -

63

62

—&— ME

T
735

740
m=910,n FV0=0

65. 5

65. 0

64.5

64.0

63. 5

63. 0

—&— M_E
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915

920

54 -

53 A

52 -
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50 A

49 ~

M_w
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m

800

1000




1.

0

0.

0.

0.

0.

52.

52.

51.

51.

50.

50.

49.

m=365, FV0=0 m=405, FV0=0
0 1.0
8 0.8 1
6 0.6
41 0.4
2 4 0.2 A
Warning: col 'MW ] missing Warning: col "M W 1] missing
0 T T T T 0-0 T T T T
0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8
m=615, FVO0=0 m=675, FV0=0
53 A
—o— MW —— MW
52 4
52 1
51 4
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50 4
50
49
T T T T T T
615 620 625 675 680 685
m=825,m FV0=0 m=865,m FV0=0
57 —&— MW | 52.5- —— MW
0_
52.0 A
5_
51.5 A
0_
5 51.0 1
0 50. 5
57 50. 0 1
825 830 835 865 870 875
m=1020m FV0=0 m=1025m FV0=0
sa ] —&— MW 54. 25 1 —o— MW
54. 00 A
53
53. 75
52 53. 50 -
53. 25 A
51 1
53. 00 A
50 T T T T T T
1020 1025 1030 1025 1030 1035

.0

m=465, FV0=0

54. 0 -
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53. 0 -

52.5 A

52.0 -

51.5 4

—— MW

4%0
m=730,n FV0=0
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T
475

52 -

51 1

50 A

49 -

—o— MW
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m=910,n FV0=0

730

T
740

52.5 A

52.0 A

51.5 A

51.0 A

50. 5 -

50. 0 -

—o— MW

910 915

920

m=530, FV0=0

53.

52.

52.

51.5 4

51.0 -
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—— MW
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5%5
m=785,n FV0=0

T
560

52 A

51 4
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49 -

—— MW
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—o— MW
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G3-3

BfE) | GEBERTIC (7)) | ERE (EA/#K) | EREE (B/R) | X8 ERF

06:45 207 100.0 2.16 5| {Ri&e06:45 Bz (REAEHSE)
07:45 207 100.0 2.16 E 1BRi&e07:45 Bzl (GRAEREE)
08:50 207 100.0 2.16 = {RRi8008:50 Bz (RFAEEE)
10:30 207 100.0 2.16 = RRi8010:30 Bah (RAEESE)
11:50 207 100.0 2.16 =l RRiB011:50 Bz (REAEEE)
13:10 207 100.0 2.16 =l RiB013:10 Bz (REAEESE)
14:05 207 100.0 2.16 S| {Ri%e14:05 B3 (GRAERSE)
15:10 207 100.0 2.16 =l RRiBe15:10 Bz (RFAEESE)
16:15 207 100.0 2.16 =l RiBe16:15 Bz (REAKESE)
21t]1863.0 (90%) 900. 0 IHKEC: 2250, PH: 6.5

EREBRIER L TR (0.5 vs 0.56), FIREA S MEENEBEESKERE

LOREBIRTHC R IR R IE Y (259 vs 172.0))

BRI\ EPRERE150. 0 ml.
MERFEREHEYIRE, M & 3E&PHA B46.5,10.3,6.5, RERX
REFREBIPH (10.34) 5i87EPH (6.5) RER K, HRE
BEXREBIPH (10.34) 5FMPH (6.5) REK K, HRE

RV S RIFERPH 6.5

#EEIRECE (2668. 0 vs 3557.0) RS
FREVE Y 4 KiFHREC 2250. 0
LRGEBIPH (10.4) 5i&FEE (6.5) RERKK, BRE.
LORGEBIPH (10.4) S5#REIEN (6.5) RERK, BRE.




G3-3_0, Day=29 (2025-06-10)

OO e e o B B e B e 5550 |
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—o— ME
T T T T
400 600 800 1000
m=580,m FV0=0
—o— ME
62 -
61 -
T T T
580 585 590
m=800,m FV0=0
65 -
64 -
63 -
62 -
800 805 810
m=930,m FV0=0
65.5
65.0
64.5 1
64.0 1
63.5 1
63.0 -5

930

935 940

m=395, FV0=0

65

64

63
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61

60 -

59 A

T T
400 405

m=645,m FV0=0
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64
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T T
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m=835,m FV0=0
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66 -

65

64

63

62

435

T T
440 445
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